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= 4,923,000 4,923,000 0
= 22,347,884 19,824,435 2,523,449
s 24 8,638,810 6,262,770 2,376,040
= 3,723,580 3,580,100 143,480
= 4,915,230 2,682,670 2,232,560
ZEd HIOIQUE Xsx H=8 AFY 7,932,800 5,556,760 2,376,040
= 3,115,480 2,972,000 143,480
S 4,817,320 2,584,760 2,232,560
SIS HHOIQUHE XS H= 3t 2,418,760 118,760 2,300,000
502 EXt= 2,300,000 0 2,300,000
01 =Xz 2,300,000 0 2,300,000
OHIOIL2ME XAtsX H=3t AHY SN2 2,300,000 0 2,300,000
XS EotA 22 (S 1D) 376,040 300,000 76,040
= 293,480 150,000 143,480
= 82,560 150,000 A67,440
403 KX SIS AH=01 & 376,040 300,000 76,040
= 293,480 150,000 143,480
S 82,560 150,000 A67,440
01 RtXISM 2L X 289,080 300,000 210,920
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OXIINSA B85 % sdZe #F 86,960 0 86,960
= 86,960 0 86,960
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= 880,620 855,980 24,640
S 632,810 631, 121 1,689
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Os2ABE, SXF =HAYE 22 66,369 64,680 1,689
Aoige] SEWHH(I1) 129,920 105,280 24,640
= 129,920 105,280 24,640
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= 129,920 105,280 24,640
01 HXHHBLEES 129,920 105,280 24,640
O=dIOIE XISl AlEALY K& 129,920 105,280 24,640
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2 5,210,000 4,940,000 270,000
= 1,192,200 1,138,200 54,000
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=2 5,210,000 4,940,000 270,000
= 1,192,200 1,138,200 54,000
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= 839,000 785,000 54,000
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2 1,746,000 1,646,000 100,000
Z 4,923,000 4,923,000 0
= 2,752,926 2,776,726 ~23,800
Holed 28 U AL &5 8,167,660 8,067,660 100,000
= 1,210,000 1,110,000 100,000
2 4,923,000 4,923,000 0
= 2,034,660 2,034,660 0
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2 100,000 0 100,000
308 AHXIEHAI SOI 100,000 0 100,000
2 100,000 0 100,000
01 HXSHHILEES 100,000 0 100,000
OXIGEe ME2Y XAFSHH 7 100,000 0 100,000
2 100,000 0 100,000
OIME - Al 25 2 1,254,266 1,278,066 23,800
2 536,000 536,000 0
= 718,266 742,066 £.23,800
oM S - A2 235 380,200 404,000 ~23,800
207 RN 226,200 250,000 £23,800
01 &8 AH| 226,200 250,000 ~23,800
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